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ELECTRONIC DEVICES AND CIRCUITS
(Common to EEE, ECB, CSE, EIE,IT, MCT)

1.a) Explain the Space charge region.
b) Explain the operation of p-n junction biased in the reverse direction.
c) Define Peak Inverse Voltage.
d). "...Fxplain the.harrnonic components in rectifier-"...... i'... ...-.
LI'i"'Wiit" the ciltii?le,te expressffi ml IC for ani'Ve"And IE. !.':'i"'l

0 Explain the basewidth modulation.
g) Why a capacitive coupling used to connect signal source to an amplifier.
h) Explain the thermal instability. (

i) What is Pinchoff Voltage?
j)., ....Define transeonductance gr4"4q($rain resistpnceof a FET.
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PART.B

3.a)

4.a)
b)

OR
5.a) Draw and explain the Thevenin's model for Full-wave rectifier.
b) Explain the Voltage reguiation using Zener Diode.
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Niioi:'"rnis questibn"iiairer containi twu'parts A an<i i3-"". : "'"""
Part A is compulsory which carries 25 marks. Answer all questions

Part B consists of 5 Units. Answer any one full question from

Each question carries 10 marks and may have a, b, c as sub questions.
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Expiain about L section Filters.
A full-wave single phase rectifier employs a pi- section filter consisting of two 4 pF

...capacitancqg..a!.d a20 H ch.oke.."The transfo"rmer. voltage to ["he.c.enter tap is."300"Y rms. ...: ..".
i...' 1.":ry1r" load dufrbni is 500 nrA: i€hlculate thi'1ttb"'putput volriagd.'4nd the ripidpi"vbltage. i'': i, i' ' "'Th" 

resistancb ti? trre choke is z0bo. " . "is+sl
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transistor in CE configuration
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For the figure,
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determine Rp and R5
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